oA sk gogkol 5T AL 35 o, Fel L o)

9

@ 371 @ 47 @ 671 @)8 7 ® 97

B

x=-4,-3,-2,-1,0,1,2,3,4°0| B2 &

2z g5q ae

12 12 12 12 12 12 12 12
0 o ° 5 o oy TaEs Sol s _O]q-
4 3 2 11 2° 3 4

é’ _39 _4’ _67 _]-27 12, 69 4a 3‘g] 87H0]]:]-'




ddighe] diet o= 2% F &2 e BF 12w

& Aol M 2L S et
© Agarol 3 Hek 22 B4k B ool

©® x<0 <L, x o Ag2 —x ot}

6 @ 0O ®a. e

©. AYizto] ? —333... BOpAke WAL 3 9 1 0, 1,

2, 39 % 77]o|tt,




8o

o2 5 A &2 A22(3H 27H)

=

© #™igto] 3 ¢l 4= 3 ¥ -3 o|t}.

@ -6 o Aokt 6 ©) AL 2t

® 0 9 Ak 0 ok,

@)a <09, a9 ARG ZATHA ghert.
@) agzrel 2 A5 AANA h7tolel ek,

B

@ dhigto] 3 9 = G| A=) 3 o $olB= 3 7 -3
oJtt.

@ -6 o FHg2 6 °]2 6 o FHE2 6 o|E= LRt
® 0 o] 92 0 ShEo|

@a<0dd, af AUghe AR A& S04 -5 9
g2 5 7 H 2z EASH o

® Auigto] 2 s A A7 gt




